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1. Answer the following questions : 1x7=7

(@) What is the total population of India
according to the Census of 20117

(b) Which State has the highest percentage
of forest cover in India?

(c What is the total geographical area of
India?

(d) Which is the most important fibre crop
of India and what soil is suitable for its
growth?

- {e) During winter which part of India
receives rainfall?
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2. Answer the following questions : 2%4m8

(@) How and why does North-East India
- stand to gain from the Act East Policy?

(b) What advantages do air transport have

over other modes of transport? Provide
examples from India.
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(d) What factors govern population density ‘
in North-East India?
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A7/110 ,

Y M 2
3 (Sem-5) GG
( Continued ) A7—4500/110



